T INT

Ay \V \J

LWOE (BASFTIVAE) FEU—D

XFPEU—IHTHE, 14 24018, 34 - 4403 2E5PDRE b—F A > MNED

12J0v9 13J—bh
E & 1 2 3 B BB & E &
ZEET  REEHT
1 e 02-0l02-0| 2-0| 4 1
NEEEE - BT
2 O e x1—2 02-1| 1-1 3 2
RENT - BAOCT
3 o «0—2|x1-2 0-2| 2 3
270w Y 29—k
E & 1 2 3 B BB & E &
TR OF - LT
] wesLsrs-o9) x1-2102=01 =14 3 2
=BT  OeRT
2 Ll e 02-1 02-0|2-0]| 4 1
TRERT LBRET
3 =557 x0—-2|x0-2 0-2 2 3
370vY 3 d—k
E & 1 2 3 B BB &6 &
=R B EET
1 — 02-0|x0-2] 1-1 3 2
ERRET MERT
2 m o [%0=2 x0-2| 0=2| 2 3
NEET - BEET
I e S .
4277OvY 3.4 3—pk
E & 1 2 3 4 | B M| &8 = B @
e P T
1 e x0-2|02-0l02-0| 2-1 5 >
o | BEERT -AEET o, 02-0l02-0| 3-0| 6 1
(S ->4F%)
SAET ROEEE
3| eolera s |¥0-2[x0-2 02-0| 1-2| 4 3
AT  ERET
4 s x0—2|x0=2|x0=2 0-3| 3 4




Rps ~—F A b

X 3MIFTRETY

REIEF - @HEHTF
(2<5037)

X2AXTRETT

FEARTF - HROTTF
(1#&o37)

S—IR—ILDE (EASTILRHE)
jmug;f No. [ 1 II:EIZB ]
ZRET  BECHT | NGSHE BRNT | RERT - BAOCT
-1 (2<B557) (5-SuF2) (557
e AHoF - HLT | ETBT - mERT T A S
22| 2 BTl ) (5-ouF2) (12557
=R IR - HET REET BERT | SNBET - BT 2
32|13 (5-ouFa) (BH<HHUYoR) | WBILYRS-) 0
=AM FENET| BEEST - NIBET FAS T -BEIFLEE (L4 ARLTF - 1&@%2?1_2 1
4-114 (EBE-FD5T) (Z->TZFR) MWBETL>RS-2) &o357)
=R IR - T mEET BERT | NBET - BT >
3113 (5-SuF2) (BH<HHUYIR) | WBILYRS-) 0
= EAF EANRT| BEEST - NIBET FAS T -BEIFLEE  [EL4ARLTF - 1&@%2?1_3 1
4-216 (EBE-FRD5T) (Z->TFR) MWBETL>RS-2) &o357)
ZRET  BECHT | NGSHE BT | FERT - BAOCT 22
1-217 (=< 5557 (5-ouFa) (557
e AHoF - HLT | EBBT - ERT e |
Sl R e (5-suF2) (12557
e 12 E]
RRIET - AEEHT | NGSHE - BHAAT | BRERT - BAOCT
1311 (2<5557) (5-ouF2) (57
=EoAFENET| BEERT - NBET FAS T REBFZiEE (B4 AKLAT - EBEET 21 0
4312 (FlE-Fo5D) (5 ->ZFR) WEIL>RZ-2) (#Bo57)
T REET BERT | NBET - BEET
333 (5-suFe) H<HHUvsR) | WaILY RS -D) >
=EoAFENET| BEERT - NBET BARE T AEFFLIEE  [(E4ARSLAT - Vﬂﬁi?jh_l 0
44 4 (& -Fo5D) (T ->ZFR) WEIL>RZ-2) ((=375w))
kBT - LT | | EEBT - BERT FRET ERT S
235 oL ks -9 (5-ouF2) (57




S—IIR—ILDER (HFER)

XA E3BEXTITLWET
XE&EITOVI2AXFTRETT
17J0v9 1-2 3J—b
K % 1 2 3 4 5 B B o= | NEfu
E=BRIFF (2<5957)
1 54 ARSLF (895 T) Lw/o|Lw/o|lx0-3[x0-3|0—-4 2 5

NFFEE (5 -2UFR)

HEELF (BTL> RS -2)
2 |1BR # (5->uFs) Ww/o 03-0|/03-0[03-0({4-0 8 1
BERF (BWUwIR)

ENET FoSD)
3 |TERF BU5D) Ww/o|x0-3 x0-3|02-1({2-2 6 3
BEEFZIEE (WBJL>RS-2)

RBEF (5-SHFR)
4 |ZHEF #Bo57) 03-0|x0-3|03-0 02-1|13-2 7 2
ORBIEF WBJL>RS-2)

BEEZT ILBTJL>RS-2)
5 |1EBBF (5->4F2) 03-0|x0-3[x1-2|x1-2 1-3 5 4
FESHF (ITTA)

27 0v9 3:413—p
K £ 1 2 3 4 B B B | IBfI
ENIF (5 -STFD)
1 |=51F (588) x0-3|x1-2[x1-2]10-3 3 4

EBEET (18U3D)

BAAEHF (S<B5095T)
2 |BBERT (S5-SUFD) 03-0 02-1|x1-212-1 5 2
FAEF IIBTL>RS5-2)

IEBEEETF (HH)
3 |BE®EF (5-2uFD) 02-1|x1-2 x1-2[1-2 4 3
MIBEF (1Bo5)

hEET (5 -SHFR)
4 e ARBFDFUBIL>RS-2)|02-1|02-1[(02-1 3—-0 6 1
BAROTF (BUS5T)




EXDOE (BAYIILRE (1] —fig) FEI—D
XFRU—JETE, LOIE180, 203280, 3 - 441l 3BORE b—F X > FED

17J0v9 5 J—bk
K & 1 2 3 B W | 2 = | B
BEIESE - KAk
1 5 O2-0|l02-0| 2-1 4 1
EFRE - /NFFEF
2 ) x0—2 x0-2| 0-2 2 3
SHHEE - FRIARE
3 arary  |x0-2|02-0 1-1] 3 2
270v% 6 J—hK
K & 1 2 3 B | B s | E o
BiBET AHEET
! (EYERETR) ©2-0{02-0f 2-1 4 1
BEST ARET
2 & N x0— 2 02-0| 1-1 3 2
WBILEHR - FIEET
3| Wov—tes-mmm |X0-2|x0-2 0-2 2 3
3720vY 7 d—b
K & 1 2 3 BB | B &= | i o
BISE T /NERET
1 (e 02-0|02-1| 2-1 4 1
S TR -F E=F
2 (e x0—2 02-0| 1-1 3 2
NEEF EHEF
3 Ctnrs) x1—-2[x0=2 0-2 2 3
47J0Ovy 8 J—b
K & 1 2 3 B B | B = | B o
BT HEELTF
1 (BBEKS > NOA) 02-0|02-0f 2-1 4 1
KA B F
2 FIfFo5T) x0—-2 02-0]1-1 3 2
EETFEEF TEEF
3 wreconn X0 -2[x0-2 0-21] 2 3
520v% 9 d—p
K & 1 2 3 B B | 28 = | B o
AWET - BEETF=E
1 o U 02-0[02-0] 2-1 4 1
HRFEF  KILABF
2 (Lor—tos—mga - xoy) | X0 — 2 x1-2|0-2 2 3
AARILFBEHETHD
3 (0SRE>X) x0-2({02-1 1-1 3 2
670vY 10 J—hk
KE_ % 1 2 3 B | B = | B
RNEF ZHEEE
1 =) 02-0|02-0| 2-1 1
EEFIRER - RERFIME
2| —z252 057 - mmps7 | X 0 = 2 ©2-0] 1-1 3 2
APAET FhEET
3 B 0 x0—-2[x0-2 0-2 2 3
770v% 11-12 J—p
K % 1 2 3 4 BB | B = | B o
SLEERSE - BERNEF
1 Q=5 02-1|l02-0l02-0| 3-0 6 1
TEEHF - =mEAE
2 ‘I(QUARTE{?T x1—2 02-0l02-0]| 2-1 5 2
FEHRET - EaANIDH
31 e nsa x0—-2|x0-2 x1-2| 0-3 3 4
FETBT  EREWE
4 (Ij;v—?c\/:—ﬁt%%) Xx0-2(x0-2{02-1 1-2 4 3




BINDEE (BATIILAE (1] —ft ) REBED—FT A2 b

Jovo

NEfL

1-1

2-1

3-1

4-1

5-1

6-1

/-1

JOowvo

JEfiz

1-2

2-2

3-2

4-2

5-2

6-2

7-2

JOovo

JNE£L

1-3

7-4

2-3

3-3

4-3

5-3

6-3

7-3

(= o57)

(QUARTET)

(WNTFHIS5T)

(L2v —t>y—EFR)

no [ 10 BB ) X 3METERETY
BREZE - EEET EHRS - NHSET HEEE AR
1 (FIRF5) (RA—W) (TFBA)
BigET AMET HEST ARET BL=H= WY 2-1
2 (EYISRETS) B A (LSr—t>o—FFe) 1 |1
BBET ERET BETR T ET e
3 (REkD) (% (WFBHST) - BREE - EEET
Bty MEELT REBR EATF TETBET LRET FIFFIST)
Y (@smmonon) (FIRFS5) #BsBESRER)
AUET - FEEPT 8 AT ALAET o amesn | L 20
> RO+ kUU—) (Lor—E>y—RFs - RTV) (OSRE>X) 1
FET ZHEEE BEEE - BAfE | BDAET BREaT 22
6 (x—2) (A—2F>05T - FRFO5T) (EPN)] 1
SNERSE - BERET | TR EET - BEAE PTEFHET - aREDH FEIET - BEEH 1-3
/ Lo=7) (QUARTET) (WFHTSD) (LSv—E>9—RAFR)
no. [ 2 BB ] X 3METRETY
BREE - EEET EHRT - NHSET REEE EBAE
1 (FIRF -5 (ZA—W) (TFBA) 0
BiEET AMRT BEET ARET BL=H2 - WE=T 2-1 0
2 (EYSHETR) N (Lor—t>o—RFe)
ERET I ERHT BETR & FT CTERTr=E R 1o
3 (REEL) CE (WFHH5T) EREEET - B
Biety EELT AEBR EATIT TETRET LHhET 31 (QUARTET)
| @smsonon FFFIS5T) (o BEIRER)
AUET - ME TS HART ALAET R AE=sn | 20 1
> (RO kUU=) (Lov—ts—RAFs - RTU) (OS/RE>X)
HNET ZHEEE BEEN - RAFIE | EOAET BlZ=T 22
6 (=)L) (A —RF>05T - FIFIST) (N 0
SNEERSE - BERET | BB EET - REAE PTIFHET - aXEDH TEIMET - EEEH 1-3
7 L= =2) (QUARTET) WS'HI5T) (LSv—t y—RFR)
v (30 BB X 3MIETEETY
BREE - KRBT EHRS - N\HSET HEEE AR
1 (FIRF -5 ) (RA—W) (TT5A) 0
SNBSS - BEYET | TR EET - BEAE PTEFHET - aAREDH FEIET - BEEEH 1-1 0
2 Lo=7) (QUARTET) (WFHTSD) (LSv—E>9—RAFR)
BigET  AMET HEST ARET BL=H= =T 21 1
3 (EYISRETS) B A (LS —t>o—FFR) 1
BBET - EREBT BETR T ZT ACrERTEa
4 (RakR) (% (\WFHI5T) RIRT - BEEW
Bty MEELT REBR EATT TETBET LRET 31 (LSt o—REa)
> | (@smsonon (FIRF 5 ) BRI R) 0
AUET - ST 8 EART ALAET ey 1
6 (ROA bJU—) (Lor—t>y—RFs - RTV) (OSRE>X)
FET ZHEEE BEER - laflE | BPAET BhEaT 22
/ (=) (A—RF>05T - FFI5T) ((EPN)] 1
8 SNBSS - BEYET | R EET - BEBAUE PTEFHET - aREDH FERIMAT - BREHE 1-4



EXDRP (BASYTIIRE (O] 135FULE) FEU—-D
XFRU—JETH, L1805, 24602280, 341ld 3 BORE h—F A > MAED

1J0v%9 13 J—p
K £ 1 2 3 B B | 5 = | B {7
BENT TERT
(T 02-1|102-0] 2-0 4 1
ERET - 2H B
(FS5xvy ) x1-2 02-0| 1-1 3 2
e H % - AR T
(OSTRE > ) x0—-2|x0-2 0-2 2 3
270v9 14 J—hk
K % 1 2 3 B | 8 = | B fI
FFERT - RPSET
(#raoIST - F—LLAD) 0O2-0|02-1] 2-0 4 1
BAST ARHT
(WNTHIST) x0—-2 02-11 1-1 3 2
SIBEE EEAL
(£1] - SAKURA) x1-2|x1-2 0-2 2 3
370v%9 15 J—p
K £ 1 2 3 B | & = | B {1
BERLT - MHE=RKT
(BEAIR) 02-0|02-1] 2-0 4 1
BRI T BB ET
(SRS > SNOA) x0—-2 x1-2 0-2 2 3
EREF LT
Lov—trs-mEe) |[X1-2|02-1 1-1 3 2
4a7JOovy 16 J—bk
K % 1 2 3 B | 8 = | B fI
KIEGHF EER T
(STHS) 0O2-1|02-0| 2-0 4 1
=EUF - AREAK R
(TF5A) x1-—-2 02-1] 1-1 3 2
FEERT - NIERT
(WESTZST - fAA) Xx0—-—2x1-2 0-2 2 3
570v%9 17 d—b
K £ 1 2 3 B B | 5 = | B {7
R - )BT
(BEWTAUR - A—R5>T5T) x1-2102-1] 1-1 3 2
kTR - BT
(Bkga - Sso>oNoa) O2 -1 02-1| 2-0 4 1
BABT NETEH
(FHN) x1—-2|x1-2 0-2 2 3
6JOvYo 18 d—hk
K % 1 2 3 B | 8 = | B fI
KAET - e UL
(SRS > SNOA) 02-1|02-0] 2-0 4 1
SHET BASKT
(E%2) x1-2 02-0] 1-1 3 2
BATET - AERT
N x0—-2(x0-2 0-2 2 3




770v9 19 d—hk
K % 1 2 3 B B[ B8 = | IE fI
SFET - BB
(STIL>X) 02-0|{02-0| 2-0 4 1
FRERT RRART
(THN) x0 -2 02-1] 1-1 3 2
RAET - BT
a2 - mEpE) X0 —2(x1 -2 0-2 2 3
sJowvy 20 J—bk
K % 1 2 3 B B | 8 = | B {I
FEEET - EEAXT
(EBrav57) 02-0{02-0] 2-0 4 1
I - FERET
(FOILR) x0 -2 02-0f 1-1 3 2
BEEAT WEEET
(WFHH5T) x0-2(x0-2 0-2 2 3
oJovy 21 3d—bk
K £ 1 2 3 B B[ B = | IE fI
BT - SAALT
(B8 T7A UR) x1-2102-0 1-1 3 2
YT EFRT
(5BS™> TNOA) 02-1 02-0] 2-0 4 1
B A7 BAEET
(Lsr—t>s—mge) |[X0—2|x0—-2 0-2 2 3
10J0V% 22 J—bk
K % 1 2 3 B B[ 8 = | B {I
M= 2T AGES
(FH1) 02-0[l02-0] 2-0 4 1
NEBEST - FENLT
(t—25>557 @A) |X0—2 x1-210-2 2 3
BIEHT M FEET
(SAKURA) x0-2102-1 1-1 3 2
117J0v9 23 J—b
K £ 1 2 3 B B[ B8 = | IE fi
AETT LUNEETF
JoY55T - T—TIL) x0—-2|x1-2 0-2 2 3
EBET - EERET
(FS5%w ) 02-0 02-01 2-0 4 1
EMOBET ERER
(Ss2 0O2-1(x0-2 1-1 3 2
1270v% 24 J—bk
K % 1 2 3 B B | B8 = | B {I
RalT BRET
(AQUA) 0O2-0|02-0] 2-0 4 1
EAKT - B Bt
- WTBHST) x0 -2 x1-2| 0-2 2 3
REET - R
(TL>RU=) x0—-2102-1 1-1 3 2
1370v9 25 J—bk
K % 1 2 3 B B | 8 = | B fI




EXDEd (BAST LR (O]

Jovo

(1 &B]

135FBE) REBsb—FA> b

X 3MIETRETY

EFERTF - REASF

(#8057 - F—LUAD)

AT BAENT
(2%%)

ies  No.
ERXT TREET EReT 2@ & MEH ez - BB T u
1111 (FHn) (TS5 ) (OSRE> )
9-1 ETBRT - RFAET BRET ARAIT BRER ERAL 2-1
11 2 lwsa057 - 7—nuab) (\WTHIS5T) (£ - SAKURA)
ERRT - MA=RT BB T ATRT BRBT T 1- 1 s
3-11 3 (BR&R) (555> NOA) (LSr—t>9—FFD)
4-1 REAT - ERET AT S X PR - ERT 3-1
114 (ST957) (TT54) (WESTZST - fBLA) 0
EERT - EET EXTE - —RET BHOT M35 1-2%=
5-115 SEHRTAUR - (—25>057| (B - SRS > SNOA) (FHN)
SKEE T~ ) UL = BHET BAERT BATET - ARET 2-2 0
6-116 (SHR5>SNOA) EL2S (RETHAR) 0
STRT ERERL THEEL AT RBET - EHBT 1-3
7117 (STIL>X) (F1) @B BEK X - ) 4-1
1 | TeEmy mmxT | TIXT WBET BomaT LEBET
8118 #Brao57) (FOILR) (\WTHIS5T) s
BT BT BAYT T EFRT B AT BARET )
9-119 (BEHTUR) (SERS™> SNOA) (Lov—t>o—mER) [~
S 2T ATER DEBEET - FELT BIENT AT EET 10
10-11 10 (FHN) ((—25>057 - @A) (SAKURA)
RESCL- LNEET BEET - EHET BEET ERER 3-2
e R R R e ) CEEDLS (S%a |
FaRT ERET EART - W ER REET - IR °11 1
12-1112 o .
(AQUA) # - WITHISD) (JL>RrRU=)
13-1113
. [ 2 BB X 3METERETT
BT TRET EmET  2H W WEH ez - BB T
1-2/1 (FaH1) (F5%Y M) (OSHKE>X) 1 0
-2 ETERT - RPSET BEET ARAT BEER FRAIL 2-1
2| 2 s 8057 - F—nUAb) (WTHHS5T) (1] - SAKURA)
BT - ME=RT NEE T ATRT BRBET T 1-1 s
3-2| 3 (BIEHIE) (5S> NOA) (LSv—tE>s—RER)
5 RERT ERET =EBT S X FRT - MERT 3-1
4-2| 4 (ST557) (TTBA) (WESTH'ST - fBLA) 1
BT - EET ERTES - —RET BRADT 35 1-2
5215 Luiriin .+ ammss (BIIBE - SIS SNOA) (FHN)
5 SKERERT - 1) UL = BHET BAERT BATEHT - ARRT 2-2
6-216 (5S> SNOA) EEZS GRBETAAIR)
ETRT - BRI THREEL RART RBET - EHEBT 1-3p—s
/=217 (STIL>X) FHn) (#5BERE X - 5 4-1
5 TREBT - REXT T T - HEhET BomaT LEBES 0
8-218 (#orao57) (FOILR) (WTHIS5T) 1
IR BAILT BBV T EFeT B AT B ABET 2-3
9-2|9 (ZEIHT A UR) (SERS™> TNOA) (Lov—t>s—mEa) [~
MEE 2T AGER NEAEET - FELT BIEAT AT RET 1
10-21 10 (Fan) ({—25>057 - BA) (SAKURA)
RESCL ILNF S BEHT - KT BEET ERER 3-2
=211 v pss . <o (FI532y N (=%s o
BPANT ERET BAKT - B = ARERENT - )11 -
12-2/12 (AQUA) (- WTHIST) (FL>Ku-) 1
13-2113




Ten No. [ 3 8B ] X 3HETRETY
BT TRET EReT - 2H B WSS EE - BART
1-311 (FH1) (FS5%w ) (0SHKE>X) 0
ETBRT - APSET BRET ARAIT BRER ERAL 2-1
2-3| 2 | 057 - F—nLAD) (\WTHIS5T) (£ - SAKURA)
BT - MA=RT NEET - REET BRBT T 1- 1 s
3-3| 3 (BEHE) (SERS™> SNOA) (LSv—t>s—REER)
4 KERT EEET =EBT RS X PRRT - NERT 3-1
3|4 (STH5T) (FTT5h) (WESTOST - {BA) 1
EERT - EET EXTE - SRET BRBT- BT 1-2%=
5315 sz <—asom5s (FIBBA - SERSH> INOA) (FHn)
SKEER T ) UL = BNET BAERT BATERT - ARRT 2-2 0
6-3]1 6 (SEKS™> SNOA) EL2S (RETAR) 0
27T - EBERL THERL AR BET - EEBT 1-3
/=317 (STIL>R) (FH1) BraLIRSZ - HE)
| TaEny RExT X7 - MEhEr | WEEeT LEe=r | 0
8-3|8 #8r8057) (FOILR) (WITBH5T) >3
BT BT BBV T T EFRT W AT BAEET )
9-3| 9 (BEHTAUR) (5S> NOA) (Lov—t>s—mE) [ 10
S 27 ATER DEAEET - FENLT BT AT T '
10-3) 10 (FHN) (A—25>057 - @A) (SAKURA)
AEL- LIAEEF BB T - BT BEET ERER 3-2
W=3111 v s - =—om) (FS%w ) L2 L
FaRT BRET BART - W B T - IR > 0
12-3112 (AQUA) (- WTHIST) (IL>RU-) 1
13-3]13

SRER - FEAT
A SAKURA




ERDE (BHFER)

XIS E3BEEXETITVLET
X X2{UFETKRETT
AJ0OvY 5-6-7 31—k
K % 1 2 3 4 5 6 B B[ E | E {7
EaET (IE57)
1 [z (van) 02-1|03-0|02-1|02-1|03-0[{5-0]| 10 1

EEEAE (QUARTET)

TEEET Brao5))
2 |EasT FIRFos) x1—2 x0-3l02-1|l02-1|x1-2[2-3 7 4
BIEET (SRS TNOA)

ABREE (TH1)
3 |&mExF #Brausd) x0-3|03-0 02-1|x0-3[x1-2]2-3 7 3
BEE+TF (SRS TNOA)

NERBF (RERR)
4 |EEZNT EBrav5D) X1=-2|x1-2|x1-2 O2-1|x1-2|1-4| 6 5
RESEF (F-LULAD)

SHERE (=05 7)
5 |EE2F (AQUA) x1-2|x1-2|03-0|x1-2 x1-2|l1-4| 6 6
INFEZTF (X1 V)

BABEE FIRIS)
6 |EpET (RakD) x0—-3l02-1|l02-1|02-1|02-1 4 -1 9 2
ZHEEETF (QUARTET)

XREE3BETITVET
) Y& IOV 2METEETY
B-12J0wv% 8 -9 1—h

K 2 1 2 3 4 5 B BB = |IE I

MABEST ((-R9>057)
1 [E@Ees (van) x1-2]03-0|02-1|x1-2|2-2 6 3
BIgHT (IS5%v )

AERF (STIL>X) x0 -3
2 |BHFR (E%2 02-1 02-1|03-0 3—-1 7 2
BWEEE (TF5A)

BT (1) x0—-3
3 |BiEET(EYEHRETR) x1—-2 03-0(02-1(2-2 6 4
EEEET (L>v -ty -AFED)

EREEIEL (STIL2X) x0—-3[x0-3 x0 —3
4 [H)IxxF (FOJLR) x1-2 0-4| 4 5
HAPAEF (BA)

EANT FIROSD)
5 |mgwvrFE (=5%so>sNoA) [02-1[03-0fx1-2[03-0 3—-1 7 1
MTFESEF (SAKURA)

B—270vY 10-113—F

K 2| 1 2 3 4 5 B BT = |IE {7

NBEF (1 -R59>057)
1 [2xFE (aEs) 0O3—0]02-1]03—0|03—0({4 -0 8 1
KAETF (SEKS>TNOA)

INEFRTF (BB UR)
2 |& T (E%8) x0 -3 02-103—0|x1-2|2-2 6 4
HEBET (TSRV N

BT (ITTA)
3 | KERT (EYSREFS) x1—-2|x1-2 O3—0[02-1|2-2 6 2
LAEEF (WFHIST)

ABEER FIRIST)
4 |mEpEr (FOJLR) x0—-3[x0-3[x0-3 x1-2|10-4 4 5
FENLTF (BA)

AHZET (EN)
5 e T GElrikiR) x0-3|02-1|x1-2]02-1 6 3
EEFRE (X1 —WV)




XRB(F3BFETTITVET
X& IOV I 2MIFTRETY

B-370vYY 12-13 31—+
K 2 1 2 3 4 5 B B |8 = ||

FRET (AQUA)

FEBT (THN) x1-2]02-1|02-1|x1-2|2-2 6 3

EEMAE (§5A)

RILAEF (RTV)
ERETF (%2 02-1 02-1|02-1|x1-2(3 -1 7 2
BLUEHR (LSv -ty -FEiFR

MHE=&F (BEHE)
EFRTF (SHSITNOA) x1-2|x1-=2 0O2-1|02-12-2 6 4
BEEAT (WIHIS)

SFEF (STIL>X)
BERLF (WESTH7Y) x1-2[x1-2[x1-2 x1-2[0-4 4 5
wmIEE (JL>RU=)

HEST (BEA)

BHEZHD(0SRE>X) 02-1|02-1|x1-2102-1 3—-1 7 1

BRER (SY=KEFR)

B-470vY 14-153J—F
£ % 1 2 3 4 5 [ B B8 S[IE

BEET (WIHUSD)

WAILTF (ZEW71UX) x1-2[x1-2|x1-2|x0-3(0—-4 4 5

=ERF (FI5A)

ZHEHFE (¥W-JI)
EBEREF (STIL>X) 02-1 02-1({0O3—0]02-1(4-0 8 1
hNEEZSRF (BA)

BRICF (BRER)

SHE (FS5%RY M) 02-1fx1-2 02-1|x1-2[2-2 6 3
PHEFF (BA)
KRBT (JOY)
ZREF Lov-t2y-AFs) |02-1|x0-3|x1-2 x0-311-3 5 4

IATEETF (EA)

lREEF (X-JI)

BASRT (55%2) 0O3—0|x1-2|02-1{03—-0 3—-1 7 2

HEAREF (WITHIST)

B-5J0vY 16-17 3—bk
K 2 1 2 3 4 5 B B |8 S| E

EAFE FIROSD)

HBER (S%2 02-1|103—0|x1-2 2—-1 5 2

BRIRENF (JL>RU-)

B, (1 —RI>D5)
1R/ ULS (SRS TNOA) | x1 -2 02-1|02-1 2—1 5 1
FESALKZ (TITBA)

NEEF (WFHUST)
BmEF (TS5RY ) x0-3|x1-2 x1-2 0-3 3 4
ARBEF (AAN)

FNEF (X—IIL)
m ER (WIHISD) 0O2-1|x1-2|02-1 2-1 5 3
BAET (THN)




XRB(F3BFETTITVET
X2AXTERETY

18-19-20 3J—bhk

cooavy
K %

4 5 6

B B

=]
=

A

\

& 4z

AABLAF(OSRE > X)
pIERdE™ (I TTA)
T T (#BBsraE>2RIX)

x1-2

02-1

02-1102-1|102-1

4-1

9

1

BHEF (THN)
SHEF (F5RST2ZNOA)
REFHEF (WITHISD)

02-1

x1—-2

x1-2x1-2|x0-3

EALL (SAKURA)
KEBET (BraEg>iR>X)
HABF(OSRE>X)

x1-2

02-1

02-1{O3—0|x0-3

INETBE (FHN)
BREGEDH (WTHIST)
NEERF (RERS > NOA)

x1-2

02-1

x1-2

02-1102-1

BiEHT (SAKURA)
faEpA =% (0S/RE > X)
R TF (ZEHI71URX)

x1-2

02-1

x0—-3

x1-2 x0-3

RIRTF (FERSTZNOA)
FETFEET (BraE>mR>X)
TFERL (THN)

x1—-2

0O3—0

0O3—0

x1-2[{0O3—0




	R４第１８回冬季レディース大会結果.pdf
	R４第１８回冬季レディース大会結果(1)

